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QUEST2BBEST.COM

SINGAPORE  PRIMARY MATHEMATICS

PLACEMENT TEST 2A

Name: ___________________




Marks: _____/100

Date:   ______________



Section A ( 40 Marks )

Questions 1 to 20 carry 2 marks each. For each question, choose the correct answer and write its number in the bracket (  ) provided. 

1. Write the number for five hundred and seventy-six

1) 506

2) 517

3) 567

4) 576





(
)

2. What number is 100 more than 268

1) 269

2) 278

3) 289

4) 368  





(
)

3. Which of the following numbers has the same value as 8 hundreds, 3 tens and 14 ones?

1) 25

2) 817

3) 844  

4) 8314





(
)









4. A baker sold 258 loaves of bread on Friday. He sold 579 loaves on Sunday. How many more loaves were sold on Sunday?

1) 321 






2) 327

3) 788

4) 789 





(
)

5. The sum of 289 and 476 is _______.

1) 187

2) 231

3) 655

4) 765





(
)

6. Jim has 18 jellybeans. He puts them equally into 3 small jars. Choose the correct sentence that shows this problem.

1) 18-3

2) 18+3

3) 18x3

4) 18(3





(
)

7. How many wheels are there in 6 bicycles?

1) 2 + 6

2) 2 + 2 + 2 + 2 + 2 + 2

3) 2 x 2 x 2 x 2 x 2 x 2

4) 6 + 6 + 6 + 6 + 6 + 6


(
)

8. 3x3= ___+ 3

1) 3

2) 6  

3) 9

4) 12





(
)

9. The weight of the tomatoes is _______g







    



 


1) 205

2) 245

3) 250


4)  300




(
)

10.   






 The leaf is _____cm shorter than the twig 
1) 2 cm
2) 3 cm

3) 6 cm

4) 8 cm




(
)
11.  Jane is 135 cm tall. Her sister is 27 cm taller. How tall is her sister?

1) 108 cm

2) 152 cm  
3) 162 cm
4) 170 cm




(
)





12.  How many tens are there in 600?

1)  6

2) 16

3) 60 

4) 600




(
)

13.  $1 can buy you 5 plums. How many plums can you buy if you have $3?

1)  5

2)  9

3) 15  

4) 16





(
)





 14. A number 1 less than 300 is _____.

(1) 199

(2) 299 

(3) 301

(4) 310




(
)

15.  There are 7 days in a week. How many days are there in 3 weeks?

(1)  4

(2) 10

(3) 21 

(4) 73




(
)

16. Complete the pattern with the correct number

(1) 461

(2) 465

450
460
____
480

(3) 470 



(4) 490




(
)


17. 18  ( 2 = ___ x 3

(1) 3 

(2) 6

(3) 9

(4) 16




(
)

18. Choose the correct sentence for this picture.





(1) 5-5

(2) 5+5




(3) 5x5x5x5

(4) 5+5+5+5



(
)








19. A car has 4 wheels. How many cars will there be if there are 40 
      wheels?

(1) 4

2) 10 
3) 16


4) 44




(
)


20. An apple and a pear weigh 258 g. The pear weighs 189 g. What is the    
      weight of the apple?

(1) 69 g 

(2) 131 g

(3) 169 g

(4) 171 g




(
)

Section B ( 40 marks )

Questions 21 to 40 carry 2 marks each. For each question, write the answer on the space provided. 

21. Write 408 in words.  


22. What is the missing number?

200,     203,     206,      _____,      212,
    215



23. Arrange these numbers in order. Begin with the smallest.

609           690
 619
      699

_________    _________    _________    _________

24. What is the missing number?

394 - _____  = 294



25. Write > or < in the space

709 ____ 719






26. Write the answer in the space provided.

3 x 8 = _______



27. What is the correct answer to 30(5? ________





28. Subtract 184 from 420.  ________






29. What is the number in the empty space?   400+ _______+ 2 = 433
   

30. When you subtract 21 from 900, the answer is  ________.

31. How many tens are there in 550? _______    

32. Jill has 300 beads. If she strings 10 beads together, how many strings of beads will she have?  ________


33. 2 + 2 + 2 + 2 + 2 + 2 = ______ x 2







34. 155 + ______ = 310









35. _______ - 126 = 234









36. Divide the following circles into equal groups. Write a division sentence.



_________________________













37. The pencil is _______cm long.



  

38. Look at the diagrams below.
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The weight of the 2 apples is ______ g.

39. The weight of the watermelon is _______g.









    


                                                    5


 


40.  A piece of cloth is 200cm long. If 85cm is cut off, how much string is left ?

        ________cm










Section C (20 marks)

Questions 41 to 45 carry 4 marks each. For each of the following problem sum, show your work clearly in the space provided. 

41.  A storybook has 450 pages. John read 289 pages. How many more pages  does he have to read to finish the book?







Answer: _______________

42. The following map shows the places near my home. What is the distance from my home to the bus station?

Home 
                                            




























bus station
              

    280m

Answer: _______________

43. Susan baked 3 boxes of cup cakes. There were 9 cakes in each box. How 
      many cakes did she bake?

Answer : _______________

44. 10 rows of 26 white roses each were planted in a garden. There were 50 
       more red roses than white roses.  How many red roses were there?

Answer: ______________

45.  A television set costs $780. It costs $294 more than a radio. What is the 
   cost of the radio?








Answer: ______________

END OF PAPER.
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Answer Key

	Q1
	4
	Q11
	3
	Q21
	Four hundred and eight
	Q31
	55
	Q41
	161

	Q2
	4
	Q12
	3
	Q22
	209
	Q32
	30
	Q42
	575m

	Q3
	3
	Q13
	3
	Q23
	609,619,690,699
	Q33
	6
	Q43
	27

	Q4
	1
	Q14
	2
	Q24
	100
	Q34
	155
	Q44
	310

	Q5
	4
	Q15
	3
	Q25
	<
	Q35
	360
	Q45
	$486

	Q6
	4
	Q16
	3
	Q26
	24
	Q36
	15 (3 or    15 (5
	
	

	Q7
	2
	Q17
	1
	Q27
	6
	Q37
	7
	
	

	Q8
	2
	Q18
	4
	Q28
	236
	Q38
	100
	
	

	Q9
	3
	Q19
	2
	Q29
	31
	Q39
	1250
	
	

	Q10
	1
	Q20
	1
	Q30
	879
	Q40
	115
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